& oEBRRE

HENGYUAN HYDRAULIC

HA10VSO/52 RIIEBHER
Variable displacement Pump HA10VSO/52

#i& size 10

52 &7 series

BIE £ 171k 25MPa Nominal pressure 25MPa
& E 7% 31.5MPa Peak pressure 31.5MPa

B & Ordering Code

—. BUISEAR Ordering COde........ccovverieeereeeeieeerieesesesaesesseessesaeassessensenees 14
. H#& Hydraulic Fluid ............c..... bbbt b s bbb snrereserese 1D
=, HFARSBE Technical date............cccoveeeeeereeiecieee e e 5
MO, RFEFTEFRET Installation NOES........cccceviiveceieeeieieieeeeeecieveveaeeevesensn 7D
B, R¥EEERT Mounting DIMENSIoN........c.coveeeeveveeeveeeeeseereeesnesnenn 76—79
75 FEHIA TR CONtroller... ...t 80—81
%¥ & Features

1, ATFARBBEAREHEEER,

Swash plate design axial variable piston pump used in open circuit.

2. EETIEEHTIE 250bar, BERRES TIEE NI 315bar,

Continuous working pressure can reach 250bar, the highest instantaneous working pressure can reach 315bar.
3. MEIELL FIRzhEEMAE, HBELATRAMAIHETLTR,

The flow is directly proportional to the drive rotate speed and the displacement, and can make.
stepless variable come true by adjusting the obliquity of the swash plate.

4, HiEE. EREESMHEHEAR, BiZHeEER,

Wide range of controls such as DR ,DRG ,DFR1 etc. Short response times.

5. RRE. BYE, SUEYE. KEH,

Low noise level, high efficiency, high reliability and long service life.

6. N, MEEBESR.

Small volume, High power density.

7. R AR EE .

Excellent oil absorbency

8. EzhihaERZMEMZ @A,

Axial and radial loading of drive shaft possible.

9. SAE #11SO &#i%,

SAE and ISO mounting flange.



—. BISi{iB Ordering Code

HA10VSO/52 RIMmMEEEER

Variable displacement Pump HA10VSO/52

HAIOV(S) | O | 10

DR

52

64| NOO

RES TER, AAAGH

Model Variable pump,Swash plate design

FEE SN 250bar
Rated pressure 250bar

I&EEH 315bar

Peak pressure 315bar

BT R, FAEE
Mode of opeeation Pump,Oruit

HEHER 10(ml)
Displacement 10(ml/r)

EHAR:

controller

fEEEH

Pressure control
EiREER

Remote pressure control

EhFmEES

Pressure and flow control

DR

DRG

DFRI1

Fam#5 52 #3

Series 52 Series

| (MHRE )

Direction of Rotation

JaRtEt Clockwise
#rEt Anti-clockwise

i NO0O

without through drive

—

EAMOB  Pressure port B

H#imO s Suction port A 64
SAE B4lR% UNFSAE

EAHMOB  Pressure port B

#il0a S Suction port A 14

IS UNCDIN

]

RRE=:
Mounting flange
A-ISO A3,
ISO 2 - hole

C--SAE A7l
SAE 2-hole

]

S--SAE 7E§# SAE splined
P-- A FE
K--SAE 8 SAE parallel with key

Metric parallel with key

U--SAE /NESE SAE spllined,reduced dia.

]

BEH seals; P THEHE  Prbunan
V-- FRAE

Fluoro-ruber



L UEREE

HENGYUAN HYDRALULIC

—. if#% Hydraulic Fluid
£ 31 &% P24 Viewed on 31 Series P24

=. #AREH Technical date

T1{EEAHIEE Operation pressure range
7£ B OJE A Pressure at port B

#EEH Rated pressure Pw.......................250bar
IE{EE 1 Peak pressure Prax........c.ccoe.. 315bar

SO (#0) x4 EH Inlet Operation Pressure at port S
Pabs min..... wevnrenn.0.8bar

Pabs max............cccceeueenneen.....30bar

S5 Z Parameter relations

FRR flow gz —eXNX0r [L/min]
1000
IRZh¥E4E drive torque T= 1.59xVexdp Vox4p [N.m]
10xnmh 20xnxnmh
WRFATNE drive power P= 1 XN __ 2mxTxn 9 5P  w
9549 60000  600-N:

Vo =S5 JL{THER [cm?]  Geometry displacement each rotate

Ap = [ [bar] Pressure drop/differential
n = Fik [rpm] Rotary speed
nv = FRNE Cubage's efferency

nen =44 - WEKE  Mechaanical-Hydraulic efficiency
n=23}ZE (n=nvnw)  Overall efficiency

RASHR (ELH, REENHBRSFRYE)

Technical data Form(theoretical values,without considering n mh and nv )

#tk& Size 10
HE## Displacement Vgmax cm? 10.5
£ Vg max B & ##E " Max speed when Vgmax Nomax pm 3600
1% % 4% maximum speed it OEH Pabs 1#8/nsf Vg < Vgmax B} when pabs increase orvg<vgmax N max zu1 rpm 4300
B A ifit i Max speed when Vgmax S Nore b max Lioh) g
at  7E ne=1asomin B L/min 15
& KX IhEE Max power( A p=250 bar) at % Nome: 4 P o kW 16
at 7 ne-1asomin B kW 6.5
A HE4E Max torque( Ap=250 bar) at  7E Vgmax B Tmax Nm 42
R4 Moment J kgm? 0.0006
Ei Weight m kg 8
EZhih S FRAMES  the drive shaft allows maximun axial force Fax max N 400
REhe ERiFrmAEEh the drive shaft allows maximum radial force T ax max N 250

M., R#FFEZFEM Installation Notes
#0131 &% P26 Viewed on 31 Series P26




HA10VSO/52 &5l EERR
Variable displacement Pump HA10VSO/52

fi. &3 EERT Mounting Dimension

S
HA10VSO 10 DR /52 R- XKC64N00%!

L U
B "K" Shaftend” K
Flange 82-2 S . M)
2 g2-2 1
SAE J744 Okt 83 4
25 _ 286
8 W (0 :
8 'S ____ﬂ__}____
gs -
1 -
.33 -
LN B | |
o tg_-’lﬁzl._B_U_fﬂf_'Zﬂ
8 24 |
6,4 148
41 164
Y View Y View
YA hCE: ]
B3 U 617 e ¥ 5 B A i 6 ) e sh
for clockwise ratation for counter clockwise ratation
107 107
— —
&':_ = N~ ; :tlzl_
i = — & T
S | B B ( i i S
y 1 1/16-12 UNF-28 11/16-12 UNF-2B/| & 11/16-12 UNF-2B
#20 w20 : #20
_— deep 20 deep 20 G828 deep 20
| [ 51
B "s" Hig "o
Shaft end™ S ] Shaft end™ U” ]
19-4 (SAE A-B) 16-4 (SAE A) ]
16/32DP; 11 T 16/32DP;9T
2 'ug_
CE -
1/4-20 unc—zs/ _1‘.'
j::m| 0il port
kX L B Ehwmn 1 1/16-12UNF-2B g pressure oil port
30 15.8 S bri:m] 1 1/16-12UNF-2B § Inlet
23.8 LL, | FEfkitic  9/16-18UNF-2B L,L,Case drain
- 3.8




SERER

HENGYUAN HYDRAULIC

S
HA10VSO 10 DRG /52 R- P KC64N00%
DFR1 L U

% "K" Shaft end” K”

I-‘Ianjgc 82-2 73 =

X 822 _jj___ L

SAE J744 Okt 83 | - [

N6

g 25 286 || | !

S i 118 e o)

S

(=] = S O it i s il s
2 |
% B ' =l L=

.33 | |
A |)
| | 9/16-18UNF-2B
24 |

8
64 148 =
Lo41 4 - 179
Y View Vi
YirH YR
Pl 75 D B 105 1 e sy PR i §4Eh
for clockwise raggtsion for counter clockwise ratation

#20
deep 20

S s B e

Shaft end” §" ] Shaft end” U” _]
19-4 (SAE A-B) 1 16-4 (SAE A) e
16/320P; 11T 16/32DP;9T

1/4-20 UNGZB/ l“,‘l
22

23.8
38 .8
pi::{ s Qil port
B EAHRO 1 1/16-12UNF-2B B Pressure oil port
S ki O 1 1/16-12UNF-2B  § nlet
LL, | F&#®O  9/16-18UNF-2B L.L Case drain
X £SHm0O 7/16-20UNF-2B X Control pressure oil port




HA10VSO/52 RINMmHELTER
Variable displacement Pump HA10VSO/52

HA10VSO 10 DR /52 R- XPA14NOO%Y

L
mﬁ uPu
shaft end “P - )
40
= 73 -
1 !
1SO 3019/2
2Lk
2 hole flange ~
T - u A o 3
2. 28 5
w | | Y
=] 1
g5, |j | I <
°
L 28 | ‘P
1 g
L L1 |
T M16x15
8 | 24
710 148 a
L3 164 |
Y View YI};&E
Y YA
B 7R R W 1 5 ) % 3 B i e 5 e sl
for clockwise ratation for counter clockwise ratation
o 107

oy—

D

B B \©®

= -
S V—

@.
©

dcéﬁgg(] I 5123-5 il 23:55; | dc?ng(] ac’fﬁ go | st 286 | 23.65 D dcfp? %
i::{ m| Oil port
B EAHmO M27x2 B Pressure oil port
S bei3i:: | M27x2 S Inlet
LL, | Ffkittid0 M16x1.5 L.L Case drain




S EBEBE

HENGYUAN HYDRAULIC

HA10VSO 10 DRG /52 R- XPA14NOO%!
S DFR1 L

shaft end “P” 132
73

1

i
1

-

— |

1SO 3019/2
2A8%kx
2 hollc flange | |

3

225 5 5
e b |
L1 |

.28 |

1l..._._..l
T M16x1,5
gl .24 |

Y View
a4
B 7R R R 1 7 1 ¥ sl

for clockwise ratation m

58,5

Y View
Y L
P Dyl i 6 5 T 5 5

for counter clockwise ratation

#20 286 | 286 | #20
deep20 L 51 L 51 _ deep 20
WA Oil port
B EhmA M27x2 B Pressure oil port
S im0 M27x2 S Inlet
LL, | F&itimna M16x1.5 L,L,Case drain
X E£SmAO M14x1.5 X Control pressure oil port




HA10VSO/52 RIImEELTER
Variable displacement Pump HA10VSO/52

75, ¥E&lA X Controller
DR [E /1324 Pressure control
EEHEFEEAEREREREHERFEE, RIURHAGEHBRE, EAVTERIEE,

The pressure controller serves to maintain a constant pressure in a hydraulic system within the control range of the pump. The amount of
hydraulic fluid required by the system. Pressure may be steplessly set at the control valve.

75 T4k i £& static characteristuc e |
(En,=1500 rpm i t, = 50°C) ’i “““““ 3 pasasdos ;)
(at n1=1500rpm; t ;=50C ) no T j_ My )E( :
Hysteresis/pressure rise AP ( max=4bar) e \ vy _E_'_i
Wil BB ) 786 Ap,,, 4 bar B ; Tl
. —fe— ——— LR
= [ a §
g - ) 1 1 ' ' ; ‘o
] H ]
E o 1 | 1 :
8 “ 1 1 1 '
= 1 1 :
a 1 1 - b
=] 1 1 : :
: L B
| T - : 5
1 Adjustment range : : o o _.
Qmn | ) | 1 L ; '_l
20 250 . ML
TAEEAp (bar) =
working pressure
DRG iEf{EE#ZH
Remote Pressure control
DRG HIThREFNZEH

Function and equipment same as DRG.

L AT EETE X ORI gfEs, M ATE DRG H#ESEE M,

A pressure relief valves can be connected to port X for remote control applications, it is not included in the items supplied with the DRG
control .

S FEMFREEZE R 20bar, FEZFRIEHIFEA 1.5L/Min, MTERIMNGIEEME (FEEFE 10~22bar ), BEEITHIHHRER,
The differential pressure at the DRG-spool is set as standard to 20 bar, and this results in a pilot flow of approx.1,5 L/min.

If another setting is required(range between 145 and 320 psi (10 and 22 bar)), please state in clear text .

EFERA TS BRERERA

As a separate pressure relief valve we can recommend below:

DBDH 6 (hydraulic)

HESKAFRBI 2m

The max. lenght of piping should not exceed 6.6 ft (2 m).



S BERE

HENGYUAN HYDRAULIC

AL Bt N
Hysteresis/pressure rise /AP ( max=4bar) not include
1] e FE A 7+ Ap w64 bar in the suppl o
L PPly
1 —_ = X
] - i e
T ! 1 ' R e

I ] ' I i
gl I i i }ﬁ.u E
§ o 1 1 1 v 1o
2w [ 1 1 I v :
2 | | ! ! $acacecenes Y M
A 'l : 1 1 H ?“ :
1 bomeen I
I W - L B il AN
r Adjustment range ll 1 = I ! boeaxed
1 - - ;
- ! 1 ! ‘ E
20 250 :
TAEEHp [bar] ——» ;
Working pressure P (bar) :
:
S gL

DFR1 E A E#EH] Pressure and flow control
B THEENEES,, EETFask (N—Hnrl) MELETHERMNAR, RIRBUTIFMERR, 3 DFRI, X ORI,

Function and equipment as for in addition to the pressure control function , the pump flow may be varied by means of a differential pressure
over an orifice or valuespool, installed in the service line. The pump flow is equal to the actual required flow by the actuator

The DFR 1-value has no connection between X and the tank.

|

HA e (fn, = 1500 rpm 5 t, = 50°C)
i

Static characteristic(at ni=1500rpm; t ,=50C ) ! I 1 r1: '
not include | ' _'—l—‘rl-l—w i
in the supply \\ i T _____ o) |
W& TAE £ (fn, = 1500 rom § 1, = 50°C) \L | eemeeene T |
q e — z i v
e [ T g e Ll
% o ) &5 s
e L " N
._“;ﬂ ] ] 1 . :' i
3 T 1 1 |
i A o, |
¥ - ] 1
| RETE ] 1 . ’
| Setting range ll : i t
] ] 1 E
Ay min L : ;
20 20 i
TAEESp (bar) — ' | i
working pressure P (bar) |_ . = . = i u
s 1 L




	恒源选型手册2016(1) 76
	恒源选型手册2016(1) 77
	恒源选型手册2016(1) 78
	恒源选型手册2016(1) 79
	恒源选型手册2016(1) 80
	恒源选型手册2016(1) 81
	恒源选型手册2016(1) 82
	恒源选型手册2016(1) 83
	恒源选型手册2016(1) 84

